EAGRAROBREERT — 2 N— ABISH —F

20215 3A11H (K) 18mAFH4H

KW > %—f# C3=mA

‘ [Riz] ¥ ‘ [REBE] — | & (%) 1600M 4E

[A&£] 1 7 :800,000  ~ 23&:320,000H 33 :200,000H ~ 43 :120,000 " 5 & :80,000 M

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. : EEXEH 143. -1-1- . - TELBEE (/I\#E)
N . RIS 4| BB 1(4_3)1 1-1-1-1 | 39.5 2 <5+273) EiE
A:Medaglia d'0ro B: 71N KRIA 2K "HET7— L4
S S EIHEER :43. —-3-2- . — FHEBEE (KH)
2 13| P=FWILIIT - 4 56.0° 1(443)9 ¥z 1403 ! (4517) BAS
R:d—IRK7Ya—)b B:LFTz—F R EE
N N #1138 : -10-9- — 1ESRICH] (/\#K)
sy 9 5w ) — w7 4 6 a0 (11.454/.5 10-10-9-8 | 39.6 8 ;1_641) :.:E.EH%?&
a7z BUGr)—H-F> ERT7—L
L £ 6 | THE 1:44.2 12-12-12-10{ 39.3 | — 10 | 423 |EERIK (KH)
4 10| BLVTTHR- 77 6.0 (7%%) 3y | W N2
R:TUF—Y BAATEIALYT batie ]
e, _ = # o5 | REEF— 1:44.5 7-7-8-6 | 40.0| — 5 462 | TS (1)
5011 |F¥=7Vb 56.0 A 1/2) (3 |BEE=
L:IANKZATNGT BAR—IKRYya Bk I14035
SRR 4t 5 | FARA 1:44.6 2-2-3-3 |41.0| — 7 472 | BOSEZ (KFH)
6lslg|¥>YU> 56.0 (3/4) (-4 | ERREE
R:TwLINEry b BiOYa1—FFIYI PLE T PR N
= - EEE : 44— — BB (/\HE)
' : IEEEREEA "4 B [ draa 408 ’ ‘g? H LB
R:A—-X*¥>J4L B:T7L/HRU-X HREE
N ¢ BEHB : -7-10- — dEFE ()
AR ARZANRAY A W il 1'(414)'9 FTIeT | 404 ‘ :f; AEES
R—FHISYL BTU—FLH—I RE4ES
S 5 | REEE 1:45.0 11-11-11-12| 40.5 | — 13 | 496 | AREEZ (XH#H)
9|7l12/E2T7UZR 54.0 (3/4) 7 |BBET
R4 g RT—ILEY BIRT RYZX2 HET7— L
- S 5, -6~ 8| — Wil (k)
10 2 IXFq«O—-LIb 6 54_0§ 1(14/52)1 TeeT 408 s :,413) %EA*IE%
R:bh—t>T54 b~ B:b—t>ELZT1 BRRStt IXF1T77—LA
. N iR : -14-13- — BAME (/)
1108 5| 77FRRTLIN= o4 LB 1(.14/52.>2 14-14-13-13| 40.3 14 :?2) e
R:7—IKRI-ZX B:T77%RU—-2X DEAHTT— L
. LHER : -9-7- — dEFE ()
N - R AL A G Boa | TR e e |t
L:ARYIFNIT—/ BT7IIRZX JT—IVRTp—L
> 7 | SHER 1:45.9 5-5-5-5 | 42.0| — 6 470 | HLEBAZ (KFH)
13/ 814 K= F 56.0 F57) o) | EHE=
R:BALINT Ry 7R B:T7A45>KA7x EOHS
s S 4 5 | #llIRHE 1:46.0 13-13-14-14| 41.4 | — 11 431 | A= (KH)
1407 |11| KT L A= 56.0 (172) e | EEfEX
R:TY—ZTLAN— BAFYITA0O N e
® 1 —F—@EBIERL
1T=7r= 4,8,13,6,14,7,(1,2),3,9,12,10,11,5
230—7F— |4,8,13,6,14,2,(1,7),3,9,12,10,11,5
Ja=9= 4,13,8,6,14,2,3,1,9,7,12,10,5,11
43—+ — 4,13,8,6,14,1,2,9,3,10,7,12,5,11
[ N5
B 4 360M 714K 4-13 220M e E 3-8 490 JEE 4-9-13 2,710
B B 4 130H4 4-9 1,090M e B 3-8 920M 3B 4-13-9 12,030H
13 120 9-13 690M B & 4-13 480M
9 320M B H 4-13 1,040

ARICOVWTRDTEEERROODE. TR LI,




